Problem 1

Assume that system S is defined by the table below:

	X
	a
	b
	c
	d
	e

	x1
	1
	3
	2
	1
	1

	x2
	1
	3
	2
	2
	1

	x3
	1
	2
	3
	2
	2

	x4
	1
	2
	2
	1
	3

	x5
	2
	1
	3
	2
	2

	x6
	2
	1
	1
	2
	2

	x7
	2
	1
	2
	1
	1


Build query language for S and propose its interpretation in X.

1. Find the smallest set of attributes in S which values describe the same

sets of objects in S as values of all the attributes in S.

2. Give examples of semantically similar terms.

Problem 2

Assume that system S is defined by the table below:

	X
	c
	d
	e

	x1
	2
	1
	1

	x2
	
	
	1

	x3
	3
	2
	2

	x4
	2
	1
	3

	x5
	3
	
	2

	x6
	1
	2
	2

	x7
	
	1
	1


Define rough interpretation of all attributes in S and show its similarity to belief and plausibility functions for these attributes.

Problem 3

Assume that system S is defined by the table below:

	X
	a
	c
	e

	x1
	1
	2
	1

	x2
	1
	1(2
	1

	x3
	
	3
	1(3

	x4
	1
	2
	3

	x5
	2
	3
	2

	x6
	
	1
	2

	x7
	2
	1(3
	1


Define belief and plausibility functions to model system S.
Problem 4

Assume that system S is defined by the table below:

	X
	a
	b
	c
	d
	e

	x1
	1
	3
	2
	1
	1

	x2
	1
	3
	2
	2
	1

	x3
	1
	2
	3
	2
	2

	x4
	1
	2
	2
	1
	3

	x5
	2
	1
	3
	2
	2

	x6
	2
	1
	1
	2
	2

	x7
	2
	1
	2
	1
	1


Additionally, we assume that the query language is built from attributes {d,e}. Describe the meaning of its statements in terms granules generated by attributes {a,b,c}. 
Practical example:  a, b, c – medical tests;  d, e – diagnoses made by medical doctor

